Series CM2
Accessory Bracket Dimensions

Single Knuckle Joint

Single Knuckle Joint

1-020B/032B Material: Rolled steel

[-040B  Material: Free cutting sulfur steel

@ND Ho MM Y (Max.) g @NDHi0 PV
N— “ / E MM \_45 . CJ1
A = @B / \ (iX@Q\ —
- VAl - o xoA (1
3 : g () o
A - %
v : Z Al Lo CJ2
~ L1
Rz Z (MIN) ‘ A A ——
Bore size (mm)| A H MM ND NX: U R Y y4 - —
(om) o Part no. [*eelcableborel A T A TE [ [ MM | NDwo | NX | Ri| U
20 18 | 41 | M8x125| 9% 933 | 14| 10 [ 11 ] 66 sizo () T CG1
T e 1-020B | 20 |46|16|20 |36 |M8x125| 9°3%¢ | 931 |10 |14
25,32 22 | 45 [M10x1.25| 9% o2 | 14 | 10 | 14 | 69 0,058 )
20 21 50 Tw1axis 1227 162 20 12 13 | o2 1-032B | 25,32 |48 |18 |20 | 38 [M10x1.25] 9°3%¢ | 931 [10 | 14
: < =2 1-040B | 40 |69 |22 |24 |55 |Mi4x15[12°3° | 1651 |155]| 20 MB
Double Knuckle Joint MB1
Y (Max.)
oND hole H10 MM
Axis d9 TN\ T L / CA2
. —XH— N | CS1
) i gy S 7
LA SES /
X 1 C76
L A
U2 H
Re Z (MIN) C85
Bore size (mm)| A H L MM ND NX: | R: | U | ¥ | Z C95
20 18 | 41 |25 |[M8x1.25 9 912110 | 14 | 11 | 66 —
25,32 | 22 | 45 [25 |m10x125] 9 [ 9:2| 10| 14 [ 14| 69 CP95
40 24 | 50 [49.7| M14x15 12 16503 | 13 | 25 | 13 | 92
NCM
Double Knuckle Joint
NCA
Y-020B,Y-032B Material: Rolled steel Y-040B wmaterial: Cast iron
& < & D
e i
oND hole H10 =X
MM i
MM __oND hole H10 Axisdd|
I Axis d9 71 20-
i — Lﬂ[ odul il
s e sly)- @ ( | il
- — - Data
Al o] allu —
A A
Part no. |APRlicablerore| A | A+ | Ex | L | Li MM ND NX | NZ | Ri | U, | /pplicablepin [ Snapring siz
Y-020B 20 46 16 | 20 | 25 36 | M8x1.25 9 97921] 18 51| 14 CDP-1  [Type C 9 for axis
Y-032B 25, 32 48 | 18 | 20 | 25 38 [M10x1.25 9 91921 18 51| 14 CDP-1  [Type C 9 for axis
Y-040B 40 68 | 22 | 24 | 49.7| 55 | M14x1.5 12 167331 38 | 13 | 25 CDP-3 23 x 18¢
+ Clevis pin and snap ring (cotter pin for 40) are attached.
Double Clevis Pin/material: carbon steel Double Knuckle Pin/material: Carbon steel
Bore size: 020, 025, 032 Bore size: 40 Bore size: 020, 025, 032 Bore size: 40
CDP-1 CDP-2 CDP-1 cel CDP-3
g3
2-g3 _. 2 2-03
SThouhhole &5 @ g8
L/ Throughhole 3 w@ Through hole e
= Y — E
175 o2 | 4 332 1 175|192 || 175 4 w7 [ %
115 25 T a2 116 A 25 N 115 49.7 J
Snap ring: Type C9 for axis Cotter pin Snap ring: Type C9 for axis Cotter pin
23 x18¢ 23 x18¢
6-4-21



0"

Series CS1
Accessory Bracket Dimensions

| Type Single Knuckle Joint* Knuckle Pin, Clevis Pin
A2 L P
oNDH10 MM A1 m i_ 7 m CJ-I
Hi HH —
H - O
_ Material: Cast iron L} i ‘5‘[
>Z<I [, | : s Applicable = CJP
U Part no. bo(:ﬁril)ze Ai | A2 | E1 | Lt MM ND+10 NX |RR:1 | U1 Material: Carbon steel C J 2
L -
! I-12 | 125 | 8 |54 |46 [100| M30x 1.5 | 25%9%¢ | 3233 |27 |33 Part no.|*®tebe| D9 | L | ¢ | m jpriimrougy s [——
N 1-14 | 140 | 8 |54 |48 [105| M30x1.5 | 28°5™ | 3633 [30 |39 IY-12| 125 [253%%| 795/ 695/ 5| 4 |e4x40 |CM2
2 1-16 | 160 | 8 |60 |55 |110| M36x 15| 32°%' | 4033 |34 |39 IY-14 | 140 |283%%| 865| 765/5| 4 |e4x40 ————
g I-18 | 180 | 8 |67 |70 |125| M4Ox 1.5 | 40°8" | 5033 | 425| 44 IY-16 | 160 |323%) 945/ 845/5| 4 |e4x40 |CG1
1-20 | 200 | 8 |67 |70 |125| M45x15 | 40°%" | 5053 |425| 44 1Y-18 180,200/ 4025%3 (115 [105 |5| 4 |@4x55 ————
1-25 | 250 | 9 [75.5/86 [160| M56x2 | 50°" | 6333 |53 |66 IY-25| 250 |508% 144 132 |6| 5 |e5x65 |MB
1-30 | 300 | 9 [84.5/105|175| Me4x2 | 63*0" | 8054 66 |71 1Y-30 | 300 |635i%[178 [166 |6| 5 |e5x80 ————
Y Type Double Knuckle Joint* Rod End Nut
o d
ND hole H10 MM A -
ghaﬂdoee ‘F_ CS1
]_L Material: Cast iron o <
) " -
N i Applicable:
= é n J s el bo(r;;i)ze Av) Bl L MM 412D R Nz [RR1| th ; Material: Rolled steel C76
= V12| 125 | 8 | 46]100| maox 15| 2579 | 32232 | 6a81| 27 |42 Partno[] g Ty [B|c|Dp |C85
L Y-14| 140 | 8 | 48(105|M30x 15| 28*9%¢ | 36103 | 72233| 30 |47 NT-12|125,140 | M30x15| 18 | 46 | 53.1| 44 ———
S Y-16| 160 | 8 | 55[110 | M36x15| 32°8" | 40187 | 803 | 34 |46 NT-16| 160 |mssx15] 21 | 55 | 635 53 |C95
4 Y-18| 180 | 8 | 70(125| M40x 15 | 407" 50:03 (10093 | 425/ 54 NT-18| 180 |M40x15| 23 | 60 | 69.3] 57 ——
i Y-20| 200 |8 | 70[125|masx15 | 407" | 5032 [10031| 425] 54 NT-20| 200 |m4sx15| 27 | 70 | s8] 67 |CP95
S~ Y-25| 250 | 9 | 86|160| M56x2 | 50°5" | 63305 [12653| 53 | 81 NT-25| 250 | Ms6x2 | 34 | 85 | 98.1] 82 ———
Y-30| 300 |9 [105]175| Meax2 | 6337 | 80122 [16031| 66 | 87 NT-30| 300 | me4x2 | 38 | 95 [110.0] 922 |[NCM
+ Use a single knuckle joint or a double knuckle joint individually. ——
(Screw it entirely over the rod end threads and tighten it.) NCA
+ Extend the dimensions of A, H. when using a single/double knuckle joint together with a rod end nut.
(To extend dimensions A/H, refer to the table below, and specify the product as Made-to-order -XAO.)
# Pin and cotter pin are attached for double knuckle joint. D-
Single/Double Knuckle Joint -X
\ 20-
1 R
g Data

L ‘ A, H Dimensions when Mounting
_H a Single/Double Knuckle Joint
together with a Rod End Nut
Symbol Applicable knuckle joint part number Bore size (mm) A H
Bore size (mm H A @ L H: | type single knuckle | Y type double knuckle 125 65 125
125 110 50 3.5 100 156.5 -12 Y-12 140 65 125
140 110 50 3.5 105 161.5 I-14 Y-14 160 76 140
160 120 56 3.5 110 170.5 1-16 Y-16 180 83 155
180, 200 135 63 3.5 125 193.5 1-18, 1-20 Y-18, Y-20 200 88 160
250 160 71 3.5 160 245.5 1-25 Y-25 250 106 195
300 175 80 3.5 175 266.5 1-30 Y-30 300 115 210
% SVIC 6-9-19



Series CQ2

Accessory Bracket

\ Single Knuckle Joint \ \ Double Knuckle Joint
For I-G012, I-Z015A For I-G04, I-G05 For Y-G012, Y-Z015A For Y-G04, Y-G05
I-G02, I-G03 -G08, I-G10 Y-G02, Y-GO03 Y-G08, Y-G10
oND hole H10 oND hole H10
MM oNDH10 MM @ NDH10 MM Axis d9 MM Axis d9 |
@ o
?\?\\ =\ 3 — |
' i N : | T A7 A
w| 147 1] - o i} k/j 187
| == AN/ & \
5;] I.UL Al Us A1 U At | Ui NX
Ly NX Ly NX L1 L NZ
A A A A
Material: Carbon steel Material: Cast iron Material: Carbon steel Material: Cast iron
Applicable Applicable Applicable
Partno.| bore size | A As = L. MM FR: | Us NDw1o NX Part no. | boresize | A | A1 | E1 | L1 MM [FRi1| U1 | NDwio | NX NZ| L pin
(mm) (mm) part no.
1-G012 12 |21.5| 6 |OJ10| 16 |[M5x0.8| 6.3] 7 | 57%°° | 5 =% Y-G012 | 12 [215) 6 |010[ 16 |[M5x0.8| 6.3| 7 | 55| 5 82{10]14.6] IY-G012
I-Z015A| 16 |32 | 8 |[[012| 25 | M6x1 | 8.1|14 | 575°*° | 6.453 Y-Z015A| 16 (28 |11 |O12|21 | M6x1 | 8.1[10 | 5%5°°| 65%°%(12(16.6]IY-J015
1-G02 20 |34 | 8.5|0J16| 25 |M8x1.25[10.3|11.5| 8'5*° | 8 5% Y-G02 20 (34 | 85|016] 25 M8 x 1.25[10.3|11.5| 875°*| 8 52[16[21 |IV-G02
1-G03 25 |41 |10.5|0J20| 30 |[M10x1.25/12.8{14 [1076*° |10 =52 Y-G03 25 |41 [10.5/020] 30 |[M10x 1.25(12.8/14 |10°6“°[10 :52]20|25.6] IY-GO3
I-G04 | 32,40 |42 |14 |@22| 30 |M14x15[12 [14 |[10'6*° [18 =52 Y-G04 | 32,40 |42 |16 |022| 30 [M14x1.5[12 |14 |1075°*|18 :05]36|41.6] IY-G04
I-GO5 | 50,63 |56 |18 |©28| 40 |[M18x15[16 [20 [14'5°° |22 =55 Y-G05 |50, 63 [56 |20 |028| 40 [M18x1.5[16 |20 |1475°°[2 53|44 [50.6] IY-G05
1-G08 80 |71 |21 |@38| 50 |[M22x1.5|21 |27 [1878°° |28 =5 Y-G08 80 |71 |23 |38 50 |M22x15 (21 |27 |18*5°°[28 :83]56(64 |IV-GO8
I-G10 100 |79 |21 |o@44| 55 |M26x1.5[24 |31 |22'5°* |32 =52 Y-G10 100 |79 [24 |o44|55 [ M26x1.5(24 [31 [22 °|82 163]64|72 |IY-G10
* Knuckle pin and snap ring are included.
\ Knuckle Pin (Common with double clevis pin) \ \ Rod End Nut
(2]
Bla
S} .
m 1 m
"N
t /’_—L—__\ t H
Material: Carbon steel Material: Carbon steel
Applicable Applicable Applicable bore
Part no. bO(r%g:)ze Dd9 L{d|¢|m]|t snap ring Part no. size (mm) d H B Cc
1Y-G012 12 5 50e  |14.6] 4.8/10.2|1.5 [0.7 | Type C5 for axis NTJ-015A 12 M5 x 0.8 4 8 9.2
1Y-J015 16 586 [16.6] 4.8/12.2]1.5 | 0.7 | Type C5 foraxis NT-015A 16 M6 x 1 5 10 11.5
1Y-G02 20 8 oo |21 7.6/16.2|1.5 [ 0.9 | Type C 8 for axis NT-02 20 M8 x 1.25 5 13 15.0
1Y-G03 25 10 557%  |25.6| 9.6(20.2|1.55|1.15|Type C 10 for axis NT-03 25 M10 x 1.25 6 17 19.6
1Y-G04 32, 40 10857 |41.6] 9.6(36.2|1.55| 1.15|Type C 10 for axis NT-04 32,40 M14 x 1.5 8 22 25.4
1Y-G05 50, 63 14 5585 |50.6]13.4(44.2|2.05| 1.15| Type C 14 for axis NT-05 50, 63 M18 x 1.5 11 27 31.2
1Y-G08 80 18 565 |64 |17 [56.2|2.55|1.35| Type C 18 for axis NT-08 80 M22 x 1.5 13 32 37.0
1Y-G10 100 2239 |72 |21 |64.2]2.55]1.35|Type C 22 for axis NT-10 100 M26 x 1.5 16 4 47.3
7-6-20

O
z



Air Cylinder: Standard Type
Double Acting, Single Rod

Series CJ2

Single Knuckle Joint Clevis Pin Knuckle Pin
MM @NDH1o
L L
| mt ¢ tm
R4 mt /4 tm
M ‘_‘B_—‘ '!' g §
L -| Q [=]
. ' 1 T H- -4 g P
Al [Ui'o NX=84 o8 i Q CJ-'
Li 7 12 v
Material: Stainless steel CJP
Material: Rolled steel " " Material: Stainless steel
Part no. ;\gfe"f;?r‘ﬁ DA9 |d L | ¢|m]| ¢ Mot CJ2
Part no. |18 A |11 | MM | DM | NX | Ry | Us ' Part no. W pag | g | L | ¢ |m| t |Aeplcabe
bore (mm) CD-J010 | 10 (33888 |3 [152[122(1.2|0.3|TypeC32 bore (mm) snapfing ———
1-J010B | 10 | 8 |21|M4x07(33%*°[31| 8 | 9 CD-2015 | 16 [5.33%% |4.8(227(183[1.5[0.7 | TypeC5 cp-Jo10| 10 |3338[3 [t52|122]12 |03 fpecs2 |CM2
1-J016B | 16 25 |M5x0.8(5.38%°| 6.4 |12 | 14 CD-JA010%| 10 |3.3288% |3 [182(152(1.2|0.3|TypeC32 1Y-JO15| 16 |5.3=08% (4.8 (166 (122 (1.5|0.7 |TypeC5 ————
= For ¢10 double clevis style, with air cushion * For size @10, clevis pin is diverted. CG1
and built-in speed controller. —
Double Knuckle Joint Mounting Nut Rod End Nut
= Knuckle pin and set ring are shipped together. MB1
d
/ d CA2
MM oND hole H1o L ﬁ
Axis d9 \ fai
SEE /, %
B B H C76
NX “8° B H
(T2 C85
Material: Rolled steel Material: Brass Material: Iron
Partno. |bopimm| At | L | Li | MM Applicable Applicable C95
Part no. |PP B C d H Part no. |PP B C d H
Y-JO10B 10 8 |15.2| 21 | M4x0.7 bore (mm) bore (mm) —
Y-J016B 16 11 |16.6| 21 | M5x0.8 SNJ-006B 6 8 9.2 | M6x 1.0 4 NTJ-006A 6 55| 64 | M3x05 | 24 CP95
Part no. NDes NDiwo | NX R: Us SNJ-010B 10 11 |12.7 | M8x 1.0 4 NTJ-010A 10 7 8.1 | M4x0.7 | 3.2
V-1010B | 85252 [332%%| 30 | 8 | 10 SNJ-016B | 16 | 14 |162 |[M10x10]| 4 NTJ015A | 16 | 8 | 9.2 | M5x038 | 4 NCM
Y-J016B 533:3:3 53 +gv048 6.5 12 10 SNKJ-016B* 16 17 19.6 | M12x 1.0 4
= For @16 non-rotating type. (Use SNJ-016B for NCA
210 non-rotating type.)
T-bracket Rod End Cap
Flat type/CJ-CFOOO Round type/CJ-CROOO =X
Double clevis style cylinder 7 TH Tz 4-0TC
%? TU*8? 1] ] A MM A MM 20-
E Iy T N | g /— —
I P Data
{ L 0 —
—+ ——4 %ﬂﬂ:@?j ©—Ne T =% RR 2 {@ -
[E— A L ) 1
gTDmo T N & N N m
=4 L L
L N
T LTy
Tw Material: Polyacetal
Part no. i
ﬁ(’)’g"m‘)’ Alp|(L| MM |[N|R|W
Partno. |APPIcablel vo | oy | TH| TK|TN| TT|TU| TV |TW| TX | TY | TZ R R
artno. yore (mm o CJ-CF006 | CJ-CRO06 6 | 6| 8|11| M3x05 | 5| 8| 6
CJ-T010B 10 45| 3.3% |29 |18 |3.1]|2 9140 |22 32|12 | 8 CJ-CF010 | CJ-CRO10 10 8|10 |13 | M4x07 | 6 (10| 8
CJ-T016B 16 55| 5% 35|20 [6.4|23(14 |48 (28 |38 (16 |10 CJ-CF016 | CJ-CR0O16 16 10 |12 | 15| M5x0.8 7 (12 |10
6-3-11

O



Trunnion Style

Pin Cylinder
Single Acting, Single Return

Series CJP

CJPT/Without auto switch
zz CT_,
H s
. . . A GA GB
Mounting dimensions of B A 2-M5x 0.8 Pin hole dia. 0CD
trunnion pivot bracket R Type C snap ring
2-9CY = | T R
o ,‘I i | o i -
‘ 3 . 2z a Ol
uE I g 1= AW - CJ—1
o 3 S N
Rod end nut MM /NN [&] JE L )
(Refer to accessory bracket dimensions.) S i A ’!_
CX " oK CJ2
cz —
CM2
Symbol —
Bore A|A|B|C|D|E|GA|GB|H | J|K MM NN Q| T |CD|CH|CK|CT|cu|Ccx|cYy|cz CG1
size (mm)
6 7| 9 |14 (165 3 [105| 6 (11 |17 | 6 | 8 | M3x05 | MIOx1.0 [185(204| 3 |16 |4 |12 |16 | 18 |34 | 26 ———
10 10 |12 15 |20 5 |13 6 |17 20 7 8 M4 x 0.7 M12x1.0 |20.5(23.9| 5 20 [ 6.5 |135| 16 | 24 | 45| 38 MB
15 12 |14 | 20 [245| 6 [155| 6 [185| 24 | 9 | 8 | M5x0.8 | M14x1.0(28 [31.7| 6 |25 |8 |17 |29 |29 |55 | 42
Symbol S z 2z R MB1
Ei(z)ree(mm) 5st [10st[15st[20st[30st| 55t [10st[15st[20st[30st] 5t [105t[155st[20st[30 st CA2
6 35.5|40.5|45.5|50.5| — |48.5|53.5|58.5|63.5| — |52.5|57.5|62.5(67.5| — | 7
10 40.5|45.5|50.5|55.5(65.5|54 |59 |64 |69 | 79 |60.5|65.5/70.5(75.5|855| 8 cS1
15 42 |47 |52 |57 |67 |58 |63 |68 |73 | 83 |66 |71 |76 |81 |91 | 10
Accessory Bracket Dimensions C76
Single knuckle MU g oNDuo Double knuckle MM, g oiD e 1o C85
joint AR F_TT joint S o) 95
T L B B
LAl Lu NX=83 il | 7
[ L2 B i ! CP95
Material: Rolled steel + Knuckle pin and set ring are shipped together. Material: Rolled steel
Part no. [*Piebetel A | B | Ly | L. | MM | NDuo [NX| R | R:| U Part no. [*"@&™ A | B | L | Li | L2 | MM | NDs |NDwo|[NX|R: |Rz| U
(mm) {mm} NCM
1-P006 6 |5 6 | 12 |3.5 [M3x05(3% | 3 | 5 |4 | 5 Y-POO6| 6 |5 | 6|9 |12]|3.5|M3x05|35%2 (349 |3 | 5[4 |5
I-lP010 | 10 |[6.5|10 | 16 |55 |[M4x07|5%* | 5 | 8 [6.3| 7 Y-P010| 10 |6.5|10 [136|16 |5.5|Mx07 |58 |5%¢** | 5 | 8(6.3| 7 NCA
I-PO15 | 15 |7 |12 |19 |7 |M5x08|6%™ | 6 |10 |7.8| 9 Y-PO15| 15 |7 [12|1568(19|7 |M5x08|63%% |6"3% | 6 |10|7.8] 9
Knuckle pin - b s Trunnion pin TR D-
g [+ ‘ g =]
B —— sl | -X
Material: Stainless steel Material: Stainless steel
Part no. |AePitabetore| g | L | d | ¢ | m | t |Snapring Partno. |*Pane®| Dd9 | L | d | ¢ | m | t |Snapring [20-
1Y-P006 6 352 |9 |2.85| 6.2/0.75|0.65| Cliptype C3 CT-P006 6 352 120.4|2.85/17.6|0.75|0.65| Cliptype C3 ~——
IY-P010 10 5%% [13.6 4.8 [10.2[1 |07 | TypeC5 CT-P010 | 10 530 [239(4.8 |205|1 (0.7 | TypeC5 |Data
1IY-P0O15 15 358 [15.8 (5.7 |12.2|1 0.8 | TypeC®6 CT-PO15| 15 6359 (31.7|5.7 |28.1|1 08 | TyjpeC6 ———
d
Mounting nut
o
j @ Rod end cap
L-E AL Material: Brass Flat type/CJ-CFOOJJ Round type/CJ-CROCC
Part no. Applicable bore (mm) d H B C A MM A MM
SNP-006 6 M10 x 1.0 3 14 | 16.2 a T
SNP-010 10 M12x1.0 | 3 17 | 196 | IR +—a £
SNP-015 15 Mi4x1.0 | 4 | 19 | 219 ol BH° RR ° )
o N N
Rod end nut & ] W
I L
Material: Polyacetal
Material: Iron Part no. i
. art no Applicable bore AlplL!lmu!InNIRIW
Partno.  |Applicable bore (mm) d H B c Flat type |Round type| (mm)
NTP-006 6 M3 x 0.5 1.8 5.5 6.4 CJ-CF006 | CJ-CR006 6 6| 8|11 |M3x05| 5| 8| 6
NTP-010 10 M4 x 0.7 24 7 8.1 CJ-CF010 |CJ-CRO10| 10 8|10 | 13 |M4x07| 6 | 10| 8
NTP-015 15 M5 x 0.8 3.2 8 9.2 CJ-CF016 |CJ-CR0O16| 15 10 [12 | 15 |M5x08| 7 |12 | 10
6-2-13

O

SVC



	CM2
	CS1
	CQ2
	CJ2
	CJP



